The Very Early vnivesc
Lectore 1 -

T the k=0, FLRW mpdd, ore intadiree co-tmavitng aordirgtes  x!,

C) o
Correslnding  ortharmrnal  +riads o ar\c_; a-tads od, , o~d o cubtan |

cell & with 5_&0’3,"* Vig Ther l‘OY‘ﬁ,{‘@tht‘@Ug\ ook e oarree Son ors/

= i | , =
bBhyeics) +Hads ore exbwmco’ s A= @ViT gt ordURG =Py, st

{ ' y o ; s . I /
shmg  the Hrdarerpls! Fowwesrs bgokors S A ) Eﬁm_;}:(k»"(}é; £

ok LB

~

‘7)

."S:L"ﬂ‘h{‘ —“L;“’ﬂ-)‘ W ;“’} Yo ‘ -\; G' Je= f"’ e iﬁ?’b/ ay ( LJC’)": \Le: gﬂ—G )

Dl

Show that dhe bolororoy of A abra or edoe G, Pumlh) To Xpmaxie orsd

oF  Jergi- /VLVO Aclry by ’\g ) (A) = Pexp j Al T JE

24/
/3 » : &
= exp f CV, " T3 9% ypedvtes o ;'} f‘Af) - Q,@/uc FoonME T
2 ‘

o \

=
i

! \.

)~

— e
wbrie o, gbisﬁy tHhe rorionliza T, T,

= c(:—

—

i

‘Mg C

Quortom  sfofee S Flrw LO&C ore given by A= 7 oy € wohrie
T =

/UJ e anrd M’J CC . The SOl Padvet & @vem Ao

_Q_J""

(¥, w)= Lmw *’g;'“r* " de VN - Shaw +Fhrt

Y Plore  waves IR Mﬂc) Grre an arthoro) Legsie b

(/\&’M ,Mm e = g/m 2 (NaTi e - Ky peck o= SM . NoT Dol NN

s
3

5=

0. chow dhal  +he opcralprs
A

e

B 2 e \
B Wweey= —i (81l )_a¥ ARy L0 1= (e ISE | Y

~ 3 ' (5)

v
gre, pFesPect ’Vr‘/ seif odjaint ord Lritory. ord  setely Hhe Canwwiaton

relofone  expeoted Koy "H"(’ PO Ccap 5.-7”@»_57‘- iC,b}':—BI, (Her, ,gzcgt\

‘ S - SMW Hhm "LN‘ Wﬁqj‘o\( el (’N’r\/\f‘g (N’ ¢Q) h /\f\ m) S 4 b o Brusue
|
| \P 6- (‘ L..k‘m')' 3 SV\LL\ S += -S’”'Jw L——‘._\a ( ) j\l 7\/ ‘) ﬂ_—_ N ﬁ\ N)/ 3 > 'T'N«S s

Why operator 8 dow ror exist o e LAC (-Lnbw?‘ s)eace‘

4. show that rore of e LEC Shotx W) belongs o e sm—5c§»r}4 1 o it

b PPV

2 2 Yo
= R b decton—< i



